SN-1053
B.A./B.Sc. (I Sem.)
Examination, 2023-24
MATHEMATICS

[Paper : MAT-102VOC]
| Quantitative Aptitude and
Logical Reasoning |

Time : 3 Hours | | M.M. : 75
Note : Attemptany five questions from Section Aand three
questions from Section B. In section A & B, each
question of 6 marks and 15 marks respectively.
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SECTION—A
Gug-HA
(Short Answer Type Questions) 5x6 = 30
(o1 3T w9 )
1.  Find the sum of all odd numbers upto 100.
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Two numbers are in the ratio of 15:11. If their H.C.F.
Is 13, find the numbers.

T Gt 15:11 o U H 21 AR 371 H.C.F. 13
2, 3 §EAW Jd Shifsu|

Find the average of all prime numbers between 30
and 50.
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The sum of a rational number and its reciprocal is
13/6. Find the number.
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The difference between the two numbers is 1660. If
7.5% of the number is 12.5% of the other number,
find the number.,
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If 15 men, working 9 hours a day, can reap a field in
16 days, in how many days will be 18 men reap the

field, working 8 hours a day?
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8.

What was the day of the week on 16 July 17767
16 S[ATE 1776 i TwlE 1 i @1 53 o2
Find the angle between the hour hand and minute
hand of a clock when 3.25.
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SECTION—B
us—-d
(Long Answer Type Questions) 15x3=45

(e SwT wve )
If a number, when divided by 3, 5 and 8, yields

remainders of 1, 4 and 7 respectively, determine the
new set of remainders when the sequence of divisors

Is reversed.
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The traffic lights at three different road crossings
change every 48 sec, 72 secand 108 secrespectively.
Ifthey allchange simultaneously at8:20:00 hours, then
at what time do they again change simultaneously?
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3. In an election between two candidates, 75% of the
voters cast their votes, out of which 2% of the vote
were declared invalid. A candidate got 9261 votes
which were 75% of the valid votes. Find the total
number of votes enrolled in that election.
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4. A laptop's price is increased by 25% and then
decreased by 20%. What is the net percentage
change in the price of the laptop?
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5. If a clock gains 5 minutes in every hour, how much
time will it show when the actual time is 9:00 PM?
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